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Topic:- DU_J19_MPHIL_ACEE

1) Classroom discussion is normally considered as-

eI T4t 3T dX W F F 7T S 2
[Question ID = 15022]

1. Cognitive/&TTsTTcaTeh [Option ID = 30086]
2. Selective/aIsITcAs [Option ID = 30088]
3. Affective/#TarcHe [Option ID = 30087]
4. Effective /9#TdT [Option ID = 30085]

Correct Answer :-
o Effective /98TdT [Option ID = 30085]

2) Which of the following book written by Ivan Illich?

gaTe sfor qanr faf@a fawer F @ e o geas 82
[Question ID = 15062]

1. Demoralized society/TaTsT &7 g 8= [Option ID = 30247]
2. Democratic society/@erdiTae AT [Option ID = 30248]

3. Decentralized society/fashelehd HATST [Option ID = 30245]

4. De-schooling society/31-E&feiaT FATST [Option ID = 30246]

Correct Answer :-
« Decentralized society/fashgIehe FHTST [Option ID = 30245]

3) Which of the following Organization looks after the quality of technical and Management
Education in India?

frrafaf@a & & Fla a1 v saRa & aadihr 3 yaeer Rram A qoracar F 37182
[Question ID = 15051]

1. NCTE/u=Eérg [Option ID = 30201]
2. AICTE/Tw3msdiérs [Option ID = 30203]
3. CSIR/HTT3TSIR [Option ID = 30204]
4, MCI/Taei31s [Option ID = 30202]

Correct Answer :-
« NCTE/uaEES [Option ID = 30201]



Which of the following is untrue about Deemed University?

31rs Rvafieaey $ N d RRRTdasa @ awa 2

[Question ID = 15065]

1. It has full autonomy in setting course work/J& ITSAHH T HIH FATAT el H o7 FaRIceTdm & [Option ID =
30257]

2. It prepares own guidelines for admissions and fees/@ig aer 3R gee & forw ge & anfader IR #ar g
[Option ID = 30258]

3. It can award degrees under its own name/Jg 39sl =118 & dgd 134T UGleT S FehelT & [Option ID = 30260]

4, Tt can affiliate other institutions/Jg 3T TEATAT I TG I ThdT & [Option ID = 30259]

Correct Answer :-

« It has full autonomy in setting course work/JIg IIGAsHHA T HTH FATIT el H YT FaR-IcdT & [Option
ID = 30257]

5) Which of the following is not a Professional Course?

fAmfaf@a # ¥ Fia caaaRs yeawa 7€ §2?
[Question ID = 15066]

1. Fine Arts/aifera et [Option ID = 30264]
2. Pharmacy/%wmT&T [Option ID = 30261]

3. Engineering/asiifaiaar [Option ID = 30263]
4. Law/@TefeT [Option ID = 30262]

Correct Answer :-
« Pharmacy/®r#T [Option ID = 30261]

6) Which one of the following is a research tool?

rafaf@a & @ Sl 91 va aer 3T §?
[Question ID = 15034]

1. Questionnaire/92aTdell [Option ID = 30135]
2. Diagram/fa= [Option ID = 30136]

3. Illustration/f=r=oT [Option ID = 30134]

4. Graph/am® [Option ID = 30133]

Correct Answer :-
o Graph/am® [Option ID = 30133]

7) Which one of the following is a non-probability sampling method-?

frafaf@a & & #la a1 ve dR-werregar Ao Ay §-2
[Question ID = 15026]

1. Simple random sampling /&l ITE T AT [Option ID = 30101]
2. Quota sampling /eIl F#ATRIOT [Option ID = 30104]

3. Cluster sampling /aFel¥cX sT#HsATshI0T [Option ID = 30103]

4. Stratified sampling /{—di‘lcgd oTHsITeh{uT [Option ID = 30102]




Correct Answer :-
+ Simple random sampling /&XeT ATEfTeeh FHATRIOT [Option ID = 30101]

8) Which one of the following is an indication of the quality of a research journal?

frrafaf@a & & i a1 v seier (e afyeT) A Joraear 1 @& 82
[Question ID = 15031]

1. G-index/siT F@ehieh [Option ID = 30123]

2. H-index/ @& Fehieh [Option ID = 30122]

3. Impact factor /9391d &R [Option ID = 30121]
4. 1 10-index/I 10- 37eIshafOTeRT [Option ID = 30124]

Correct Answer :-
» Impact factor /9#1d &R [Option ID = 30121]

9) Which one of the following is not a type of experimental method?

frfaf@a & @ Fia & fr e [ ad
[Question ID = 15028]

1. Single group experiment /Tehel ¥g FteT [Option ID = 30109]

2. Residual group experiment/3rafrse §#g et [Option ID = 30110]
3. Rational group experiment /FIWFTW:@' gareT [Option ID = 30112]
4. Parallel group experiment/mﬂiawng [Option ID = 30111]

Correct Answer :-
+ Single group experiment /Tshel &g S1eT [Option ID = 30109]

10) Which is not a correct statement?

e T HYUT TEY AET 82
[Question ID = 15049]

1. A test cannot be both valid and reliable/Ter gteTor %1 3R fAaHAT ST 76T & Hehcll & [Option ID =

2. iotlezf ]cannot be valid without being reliable/Te I7&ToT TARGHATT &t o ToAT AT A&l && HehdT [Option ID

3. :tfag’igcg be valid without being reliable./ta TdieToT faeadeir gt & fo=IT &¢r &Y §ahar §1 [Option ID =

4. iotlegsf]can be reliable without being valid. /3% gleT & fo=ITeit Ter adieTor faeadeiar g dehdr g1 [Option ID =
30193]

Correct Answer :-

« A test can be reliable without being valid. /3% 817 & fS=Teft Tar TieTor faeaw=ir &1 Hehar &1 [Option ID
= 30193]

11) Deconstruction is a popular method of research in-

Sraveaed (fr@sa) srqaure F1 v A afie -



[Question ID = 15024]

1. Applied science/caTagTiReia=TeT [Option ID = 30094]
2. Basic science/gfaiarel fa=ireT [Option ID = 30093]

3. Social science/amASe fa=TeT [Option ID = 30095]
4, Literature/&Tgcx [Option ID = 30096]

Correct Answer :-
» Basic science/gf=arér fa=ir=T [Option ID = 30093]

12) Folk High School were created on the concept of

e 3o AgATerT F TR G TA1AT 14T AT
[Question ID = 15057]

1. Piaget/f9amate [Option ID = 30225]

2. N.F.S. Grundtwig/T=1.U%.0d. Grundtwig [Option ID = 30228]
3. John Dewey/siisT 3dY [Option ID = 30227]

4, Paulo Friere/dr3el %< [Option ID = 30226]

Correct Answer :-
o Piaget/faamaie [Option ID = 30225]

13) An example of non-personal method of Data collection is called

a1 WE &1 N-cafFaerd ugfa #1 v emeor §-
[Question ID = 15045]

1. Telephone interview/<elThlsT HAT&TTcehR [Option ID = 30179]
2. Group interview/Hd#Hg H&TlcshX [Option ID = 30178]

3. Schedule/37=aT [Option ID = 30177]

4. Interview/dT&TTcshR [Option ID = 30180]

Correct Answer :-
« Schedule/31TgT [Option ID = 30177]

14) Policy statement of UGC regarding extension in Higher Education was given in the year

3eq e F REar & day & e 1 AT avaeg af F e w=m ar
[Question ID = 15056]

1. 1980 [Option ID = 30224]
2. 1977 [Option ID = 30223]
3. 1975 [Option ID = 30222]
4. 1970 [Option ID = 30221]

Correct Answer :-
e 1970 [Option ID = 30221]

15) Jan Shikshan Sansthan is a scheme sponsored by



SieT fAraTor HEUT gaRT IS v Arere §
[Question ID = 15054]

1. Local Self Govt./TdT={1T ¥4. [Option ID = 30216]

2. World Bank/fa?a sf& [Option ID = 30213]

3. Respective State Govt./H&fad T TR | [Option ID = 30215]
4, Government of India/TXHR HAR & [Option ID = 30214]

Correct Answer :-
« World Bank/fa?a & [Option ID = 30213]

16) Diagnostic research studies is a category of research that aims to

AT IHTHUTT T ITHUTT 1 T Ao § w3207 &
[Question ID = 15050]

1. Test the relationship between variables/@R & ST H&Er T 9LI&T0T S [Option ID = 30198]

2. Analyze characteristics of something /T dreT i TN AT3TT T fa2evuT FHIAT [Option ID = 30197]

3. Achieve new insights of a concept/TUe 3TYURUT I A 3ide e WTed < [Option ID = 30199]

4. Determine the frequency with which something occurs/3® 3fgfce @ feiRoT Y fSere &1y $o gl §
[Option ID = 30200]

Correct Answer :-
« Analyze characteristics of something /feraY st ST TAATAT3T T fa2ewoT 3= [Option ID = 30197]

17) Ex Post Facto research means

TFH 9 e Rud FTAdAT &
[Question ID = 15033]

1. The research is carried out along with the happening of the incident/&re=T & afed 8ol & HTY-ATY HTHETT
3T SITaT & [Option ID = 30131]

2. The research is carried out after the incident /&re=TT & dTe; 3feTHeT= fehaT ST & [Option ID = 30129]

3. The research is carried out keeping in mind the possibility of an incident. /T&EY G T HTGAT Sl €ITT H
@ g 3feTeeTe fham ST g1 [Option ID = 30132]

4. The research is carried out prior to the incident-/3fHeIT=l TreaT & Ygel fahar SiTaT 8- [Option ID = 30130]

Correct Answer :-
« The research is carried out after the incident /&re=TT & §Te 3fe&eITeT fohaT SITeTT & [Option ID = 30129]

18) Identify the correct sequence of research steps-

iYer TR0 & HE FA F IgI=A-
[Question ID = 15029]

1. Selection of topics review of literature interpretation of findings, data collection /faw=r =T, @Tfgca TeieT
forsenst r cameEaT, 3er Farg [Option ID = 30116]

2. Selection of topic, review of literature data collection, interpretation of findings/fawa &1 T3=T, @1fgcT
gafieT, 3eT Hag St gHYeT, fasest $r sarear [Option ID = 30113]

3. Selection of topic, data collection, review of literature, interpretation of findings. /faS3 T T4«l, 3T TIE,
a1fecT fr e, fasast S sarear| [Option ID = 30115]



4, Review of literature, selection of topic data collection, interpretation of findings/aTfgcar hr T#a,
TaYTaget, 3T HIg &1 II=, st fr sgrear [Option ID = 30114]

Correct Answer :-

« Selection of topic, review of literature data collection, interpretation of findings/fawa &r a3+, ATfecy
THYETT, 3T T T FHNET, Toshut T sgredT [Option ID = 30113]

19) Identify the category of evaluation that assesses the learning progress to provide
continuous feedback to the students during instruction.

fRret & et BT Ay dEa A garfay 7 IrFere G F o e sfafisar varer w3 are Aeaiwer i Aol Ay
qEdT H
[Question ID = 15020]

1. Diagnostic/fgeT [Option ID = 30078]

2. Summative/3dRMcAs [Option ID = 30080]
3. Placement/cer@aie [Option ID = 30077]
4, Formative/9Rf&e [Option ID = 30079]

Correct Answer :-
« Placement/cer#ie [Option ID = 30077]

20) According to Radha Krishnan Commission the aim of Higher Education is —

TUTFEOTT HTANT F HTAR I A&t 1 3207 8 2
[Question ID = 15052]

1. Both To develop the democratic values, peace and harmony and To develop greater personalities who can
give their contributions in politics, administration, Industry and commerce./a\&di 3 H\FEIT, it 3R
HEHTT I faenre et 3R 3178 & 318 safFdea [Option ID = 30207]

2. To develop the democratic values, peace and harmony/elterdifae Heal, QAifd 3T HesTa &7 fAehrd e
[Option ID = 30205]

3. To develop greater personalities who can give their contributions in politics, administration, Industry and
commerce./31T8% & 318 afFdca [Awfd Fta & forw S Torelifd, wemde, 3edier 3R arftrea & 319«
ARSI & Tohdt &1 [Option ID = 30206]

4. neither To develop the democratic values, peace and harmony nor To develop greater personalities who
can give their contributions in politics, administration, Industry and commerce./sT dl ellehdiTaeh quyr, enfar
3R FeHTa &1 faer e 3R o € 31 & 3197 [Option ID = 30208]

Correct Answer :-

« To develop the democratic values, peace and harmony/eltehciifer FHeal, AMfc IR T T fdehrg HTeT
[Option ID = 30205]

21) In finalizing a thesis writing format which of the following would form part of
supplementary pages.

AT AEs T Fi 37 T & A Pfaf@a F 3 Fia @1 @ geal F e g
[Question ID = 15041]

1. List of tables and figures/&sel 3T 3fiehsT T gt [Option ID = 30161]
2. Bibliography and Appendices. /3 =t 3k aRfrse| [Option ID = 30164]
3. Conclusion of the study/3TeasT &T feTs [Option ID = 30163]



4, Table of contents/am3fY Fr arferer [Option ID = 30162]

Correct Answer :-
« List of tables and figures/esier 31X 31Tehst & =T [Option ID = 30161]

22) In fiber optics communication, the signal travels in the form of
FIgeR difeead HaR #, RAeear & T & AT FIar ¢
[Question ID = 15039]

1. Light wave/9ehrer &hr og< [Option ID = 30153]
2. Radio wave/f33T a3aT [Option ID = 30154]
3. Electric wave/faegd 3T [Option ID = 30156]
4, Micro-wave/HTSsh! &g [Option ID = 30155]

Correct Answer :-
« Light wave/9ahrer &I &g [Option ID = 30153]

23) India’s first Defense University is located in which state of India?

HI FT IgaT &1 feafagamea ara & fFa Uy # Rfua 2
[Question ID = 15053]

1. Haryana/gRamom [Option ID = 30209]

2. Uttar Pradesh/3caR 9Ger [Option ID = 30211]
3. Andhra Pradesh/31rer g¢er [Option ID = 30210]
4, Punjab/9<tief [Option ID = 30212]

Correct Answer :-
« Haryana/gRarom [Option ID = 30209]

24) Indian Subcontinent was mainly a part of —

HRART 3UAETEET HETd: U fewar a1 -
[Question ID = 15036]

1. Gondawana land /Tisar=Ir $1f& [Option ID = 30144]
2. Angara land/3{@TRT ${f& [Option ID = 30142]

3. Jurassic land /ST #1f& [Option ID = 30141]

4. Aryvrata/3Tad [Option ID = 30143]

Correct Answer :-
« Jurassic land /SR8 #f& [Option ID = 30141]

25) Andragogy means
gl FT S
[Question ID = 15058]

1. Arts and Science of helping adults to learn/aaEat @ W@ H A Fla T Fall 3R AT [Option ID =
30229]



2. Teaching 3Rs/3 Rs f2r&1oT [Option ID = 30230]
3. Teaching Adult Education to school drop-outs/Eeel BIS= aTel s Hig RI&T &= [Option ID = 30231]
4. None of the above/3WRiad & & 15 A& [Option ID = 30232]

Correct Answer :-

« Arts and Science of helping adults to learn/aaEei T TG H FGE, et ol hell 3R faameT [Option ID =
30229]

26) Harmonic mean of a series of data is

3st T TF HWAT FT FRANAS AT F AT §
[Question ID = 15046]

1. Always ill-defined /gHeT STAR IRHATT [Option ID = 30183]

2. None of the above/3WRIFd & & F1$ 7&T [Option ID = 30184]

3. The reciprocal of the arithmetic average of the value of various items/faffieeT a&J3i & Ho & haTOINT
3 1 aREIRe [Option ID = 30182]

4, The reciprocal of the arithmetic average of the reciprocals of the values of its various items/379eT faf8iest

FET & Hedl & IREIRF & A0 A F IREIRE [Option ID = 30181]

Correct Answer :-
« The reciprocal of the arithmetic average of the reciprocals of the values of its various items/39eY faf&eaT

FET & Hed! & TREIRE & RO A T IREIR [Option ID = 30181]

27) Jana Shikshan Nilayams were established for promoting

SToT FARTUTSITIATA Y demaT &of & fow TR e s oar
[Question ID = 15055]

1. Distance Education/gZ®2r RU&Tr [Option ID = 30219]

2. Continuing Education/&da T [Option ID = 30217]

3. Formal Education/3{tqarite f2r&r [Option ID = 30218]

4, Incidental Education/3ier&#e fr&Tr [Option ID = 30220]

Correct Answer :-
« Continuing Education/ddd T [Option ID = 30217]

28) In which of the following arrangements a wider spectrum of ideas and issues may be made
possible

frrafaf@a & & frw saavar # et stk a7 &1 v caTos Vacr gwa  qFar e
[Question ID = 15040]

1. Workshop mode/aTITelT 1S [Option ID = 30158]

2. Symposium/&3Tsar [Option ID = 30160]

3. Conference/d#AelsT [Option ID = 30159]

4. Research Article/ag&uld JsJeeq [Option ID = 30157]

Correct Answer :-
« Research Article/3{eT8eITeT 3fsJede [Option ID = 30157]



29) If the sample drawn does not specify any condition about the parameter of the population.
It is called.

T o ara Ao ) & S & AN ¥ S ek A A §1 59 FEA
[Question ID = 15044]

1. Distribution free statistics /faciRoT #ecT 37Tehs [Option ID = 30174]
2. Selected statistics /@rafad 3163 [Option ID = 30173]

3. Census/S1310TAT [Option ID = 30175]

4, None of the above/3dRiad H & FIs A& [Option ID = 30176]

Correct Answer :-
« Selected statistics /Tafad 373 [Option ID = 30173]

30) Jhoom is —

T -
[Question ID = 15035]

1. A river /U #GT [Option ID = 30138]

2. A type of cultivation /Te 9eR &I @dr [Option ID = 30140]

3. A tribe of North East India /3cd’ & $TRe & Teh SfeTatiic [Option ID = 30139]
4. A Folk Dance /Wc‘»ﬂ%ﬂ?zr [Option ID = 30137]

Correct Answer :-
« A Folk Dance /T olleh 5] [Option ID = 30137]

31) Conducting surveys is the most common method of generating.

FEETOT AT et TS F IeqeT FAR
[Question ID = 15047]

1. Qualitative data /3[0Ticde SeT [Option ID = 30187]

2. Primary Data/staf&e 3er [Option ID = 30185]

3. Secondary data/ATea A SeT [Option ID = 30186]

4. None of above/3WRIed & ¥ &I A& [Option ID = 30188]

Correct Answer :-
e Primary Data/9raf&e 3er [Option ID = 30185]

32) Scurvy (bleeding of gums) is caused by the deficiency of which vitamin-

Tl (A3 & G qgen) forw Rerfder & w5l @ ghar 8-
[Question ID = 15038]

1. Vitamin C/ferf&sT T [Option ID = 30151]
2. Vitamin A /f@erf&eT T [Option ID = 30152]
3. Vitamin K/faerf@ & [Option ID = 30149]
4, Vitamin B2/faerf&at &t 2 [Option ID = 30150]

Correct Answer :-
« Vitamin K/fe1f&s & [Option ID = 30149]



33) Reliability is most simply known as which of the following

fregadar ¥ad X ¥ & T F & s w7 F sl s §
[Question ID = 15048]

1. Appropriateness of interpretations on the basis of test scores./dI&ToT o 37ehT o TR IR SATEIT3AT Hr
39geFddr| [Option ID = 30192]

2. Ways in which people are the same/d dier STt @leT FAT & [Option ID = 30190]

3. Consistency or stability/&9T1fer a1 fE2REr [Option ID = 30191]

4. A rank order of participants on some characteristic./%e faQwarsit o3 wfcenfarat @ ¥e ser| [Option ID =
30189]

Correct Answer :-

« Arank order of participants on some characteristic./%o fawaT3i ¥ gfasmiarat s ¥ $a| [Option ID =
30189]

34) Match the following List — I with List — II:

List—1I List — II

(i) Illiterate (1) Continuing Education Centre
(ii) School Drop-outs (2) Post literacy Centre

(iii) Neo-literate (3) Literacy Centre

(iv) Literate (4) Open Schooling

farafaf@a gt &1 Pam & - g F w1 - 1L

et - I et - II

(i) PReR (1) g et &g

(iii) ¥ 319-313€ (2) 9RT |I&RAT g
(iii) T-wmER (3) |ERAT Fg

(iv) ¥1a” (4) FFa Fezerd fvam

[Question ID = 15059]

1. (i) (3) (ii) (4) (iii) (2) (iv) (1) [Option ID = 30233]
2. (i) (1) (i) (2) (iii) (3) (iv) (4) [Option ID = 30234]
3. (i) (4) (ii) (3) (iii) (2) (iv) (1) [Option ID = 30235]
4. (i) (2) (i) (3) (iii) (4) (iv) (1) [Option ID = 30236]

Correct Answer :-

« () 3) (i) (4) (i) (2) (iv) (1) [Option ID = 30233]

35) Match the List-I with List-II by using the codes given below:

List —I List — II
(I) Rabindranath Tagore (1) Nobel Prize for economics
(II) H.G. Khurana (2) Nobel Prize for physics
(III) Chandra Sekar (3) Nobel Prize for literature
(IV) AmartyaSen (4) Nobel Prize for Biology

A R 1T 13 FT 39ANT FF FA- 11 F a1y Ffl- I H1 Rara w3



-1 T — 11

(1) WEigary &R (1) rATE FT AIT [EFR
(I1) T S| g (2) sty T Aed [WEFR

(ITI) Ts5 qFT (3) wifeeT &1 Aae PR

(IV) 3Fdae (4) sha e & AT A [ER

[Question ID = 15063]

1. (i) (3) (i) (4) Giii) (2) (iv) (1) [Option ID = 30251]
2. (i) (1) (ii) (2) (i) (3) (iv) (4) [Option ID = 30249]
3. (i) (4) (i) (2) Giii) (1) (iv) (3) [Option ID = 30250]
4. (i) (2) (i) (3) (iii) (4) (iv) (1) [Option ID = 30252]

Correct Answer :-
o (i) (1) (i) (2) (iii) (3) (iv) (4) [Option ID = 30249]

36) Jean Piaget gave a theory of cognitive development of humans on the basis of his

ST Rmst F 379et frw et & STUR W A 41 & WATeAT R &1 v i
[Question ID = 15042]

1. Evaluation Research/#edTehsT 3eJ&erTaT [Option ID = 30168]
2. Applied research/3feT9gerd ﬁgéuld [Option ID = 30166]

3. Fundamental research /#ifleh 3ef&eneT [Option ID = 30165]
4. Action research/®Nar$ 3federeT [Option ID = 30167]

Correct Answer :-
« Fundamental research /#ifeish 3fegderrT [Option ID = 30165]

37) NAAC accreditation of a university reveals

& fRafagared & NAAC ATICT FT IaT Toldl §
[Question ID = 15068]

1. The level of quality in the university/farafdeTerd # J[urdcdT T TR [Option ID = 30269]
2. The weakness of university/faeafacTerar &I FHS [Optlon ID = 30271]

3. The advice given to the university/faafagamerr I &r 18 Ferg [Option ID = 30272]

4. The merits of the university/favafdegmera & ot [Option ID = 30270]

Correct Answer :-
« The level of quality in the university/favafaearera # q[uraedr @I ER [Option ID = 30269]

38) What is the main objective of research?

e T FET 327 FATR?
[Question ID = 15023]

1. To summaries what is already known /&RTeT ST 9gel & &1 AT & [Option ID = 30090]

2. To get an academic degree/Tsh &0 33 Tod FHTAT [Option ID = 30091]

3. To review the literature /&Tfgca ST FHTET HIAT [Option ID = 30089]

4, To discover new facts or to make fresh interpretation of known facts./ sTT TZIT &7 Wil AT AT ATT AT
Fr 7T T T SI1ET HLAT [Option ID = 30092]



Correct Answer :-
« To review the literature /aTfgca Fr FHET FHIT [Option ID = 30089]

39) What is a Patent?

TH ST FTE?

[Question ID = 15064]

1. Document of the library/gEderTerd T g¥drdst [Option ID = 30254]

2. An agreement between library and Publisher/q&cehTorar 3R GehTereh & el Teh FHIAT [Option ID = 30256]

3. An agreement between the inventor and the Government/3nTfassRe® 3R THR & & T FHSAET [Option
ID = 30255]

4, An agreement to the Government/&R&R & forT Teh FFSAT [Option ID = 30253]

Correct Answer :-
« An agreement to the Government/&R&R & fIT Teh FaASIET [Option ID = 30253]

40) National Knowledge Commission was constituted in the year?

TSERT AT AN T I3 fohaT 31T YT?
[Question ID = 15069]

1. 2003 [Option ID = 30273]
2. 2005 [Option ID = 30275]
3. 2004 [Option ID = 30274]
4. 2006 [Option ID = 30276]

Correct Answer :-
e 2003 [Option ID = 30273]

41) The principles of fundamental research are used in —

Ao sregeee & Rgral w1 39T T Srar ¢ -
[Question ID = 15027]

1. Historical research/QfagTf&e eier [Option ID = 30108]

2. Applied research /caTagTRe 3eIH=¢N [Option ID = 30106]
3. Action research /&IaT$ 3eJ&eTeT [Option ID = 30105]

4, Philosophical research /gre1fae 2iter [Option ID = 30107]

Correct Answer :-
« Action research /&ar$ 3ef&eme [Option ID = 30105]

42) The study of gerontology is related to which of the following-

ReerdTslt 1 3regae Rrafaf@a & ¥ Faw gafT -
[Question ID = 15037]

1. Female /&fge [Option ID = 30146]
2. Old-age/9RTet 33 [Option ID = 30148]



3. Child infant /aTer fRIY[ [Option ID = 30145]
4, Disease of skin/cadT & 9T [Option ID = 30147]

Correct Answer :-
« Child infant /sTer fRrg] [Option ID = 30145]

43) The variable which impacts the relationship between an independent variable and a
dependent variable is known as-

% T N UF FaaT oW 3N 0F AT o & T g9 ) TG a1 8, 39 AT F T 3 S e -
[Question ID = 15025]

1. Antecedent variable /9dqe [Option ID = 30097]
2. Precedent variable/gseid@ [Option ID = 30098]
3. Predictor variable/31TH =X [Option ID = 30099]
4, Control variable/fad=oT TX [Option ID = 30100]

Correct Answer :-
o Antecedent variable /qﬁqa [Option ID = 30097]

44) The University Grants Commission was constituted on the recommendation of

faeafaezrery sregerer amater i RAwiRer av arfse fam arar ar
[Question ID = 15060]

1. Kothari Commission/a&RT 34T [Option ID = 30240]

2. Mudaliar Commission/HeferX 31T [Option ID = 30238]

3. Dr. SarvapalliRadhakrishnan Commission/s #aUeelRTEEHSOTeT 3TATeT [Option ID = 30237]
4. Sargent Commission/asic &R [Option ID = 30239]

Correct Answer :-
« Dr. SarvapalliRadhakrishnan Commission/sT HaUeelRTENe:sOTT 31T [Option ID = 30237]

45) The concept of “global Village” gained acceptance mainly because of the developments in
the field of

"Tlee e Y HTUROT T HET T W 30 &9 F A & HRor FTefa @
[Question ID = 15067]

1. Aviation/TfauersT [Option ID = 30268]

2. Sea transport/d#Hgr aRag= [Option ID = 30265]
3. Communication/¥aR [Option ID = 30267]

4. Printing/#g0T [Option ID = 30266]

Correct Answer :-
« Sea transport/THgr IRag=T [Option ID = 30265]

46) The research stream of immediate application is.
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[Question ID = 15021]

1. Conceptual research /3=TRe 3feT&ermeT [Option ID = 30081]
2. Empirical research/3fidasied 3-1@'&%11? [Option ID = 30084]
3. Fundamental research /#ifeleh 3fef&en=l [Option ID = 30083]
4. Action research/fshaTcaeh 3eTdT=T [Option ID = 30082]

Correct Answer :-
« Conceptual research /3=TReh 3ef&eneT [Option ID = 30081]

47) The National Bank of Agriculture and Rural Development (NABARD) was set up in the year

Ui F¥ 31 aneior R d (NABARD) #r Fmaarm & o it Tft oft
[Question ID = 15061]

1. 1982 [Option ID = 30243]
2. 1980 [Option ID = 30241]
3. 1984 [Option ID = 30244]
4. 1981 [Option ID = 30242]

Correct Answer :-
o 1980 [Option ID = 30241]

48) Research ethics do not include

HegeuTe Y Maswar i enfAe gt §
[Question ID = 15032]

1. Objectivity/farsaetar [Option ID = 30128]

2. Subjectivity/aferdurerdar [Option ID = 30126]
3. Honesty/$ATeRY [Option ID = 30125]

4. Integrity/qoTaT [Option ID = 30127]

Correct Answer :-
« Honesty/sHTERT [Option ID = 30125]

49) A researcher divides his population in to certain groups and fixes the size of the sample from
each group is called
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[Question ID = 15043]

1. Quota Sample/arIeT sT#=T [Option ID = 30170]

2. All of the above/3TRIeFd T [Option ID = 30172]

3. Cluster sample/aFel&cX 71T [Option ID = 30171]

4. Stratified Sample/E{iehe =T [Option ID = 30169]

Correct Answer :-
» Stratified Sample/TcRIhd AT [Option ID = 30169]



50) A research paper-

T 2T 9-
[Question ID = 15030]

1. Contains peer reviewed original research or evaluation of research conducted by others. /G#Tfgd TgHHT
CaRT fohT 31T JHTHETET oh FoT ITTHUT AT Hediched hT FENET T &1 [Option ID = 30119]

2. Contains original research as defined by the author/el@e ca@RT GRe™ Her 2er [Option ID = 30118]

3. A compilation of information on a topic/feraT TaWT U ST ST HeheloT [Option ID = 30117]

4, Can be published in more than one journal. /T & 31T STeTel (NEraf¥eT) H T fohar ST ThaT &1
[Option ID = 30120]

Correct Answer :-
« A compilation of information on a topic/fdT fawT T STASRT &1 Heheled [Option ID = 30117]



